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alphal3_4eX1X
=
(=2

0.6

0.4

0.2

0.04

0.035

0.03

0.025

0.02

0.015

0.01

0.005

-0.005 5

alphal3_4eX1X:cyclenum {run == 8262}

[ A S 4 [ J S . e -
S S . . e .-

10972 10972.5 10973 10973.5 1 410974.5 1 5
cyclenum

deltad46_12X4eY:cyclenum {run == 8262}

LD

"r'|'|'|'i'i'|'i'|'|'i'|'|'|"|'i'|"|'|'|'i i i i

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

0.3

0.25

AIPNA4O_4e Y 4d Y

0.2

0.15

0.1

0.05

8264

3263.5

8263

3262.5

8262

3261.5

8261

3260.5

8260

alpha46_4eY4aY:cyclenum {run == 8262}

h
10972 10972.5 10973 10973.5 10974 10974.5 1 5
cyclenum

run:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

deltal3_lzx4ex

segment

-2

25

15

05

deltal3_12X4eX:cyclenum {run == 8262}

NN

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

segment:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum



usl_4eY

usl_1X:cyclenum {run == 8262}

i, e e .
S T P PR ST P P
10972 10972.5 10973 10973.5 10974 10974.5 10975

cyclenum

usl_4eY:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 1 41097451 5
cyclenum

usl_12X

usl_4aY:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

usl_12X:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

8264

3263.5

8263

3262.5

8262

3261.5

8261

3260.5

8260

usl_4eX:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975

cyclenum

run:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum




-100

-120

i
)

usr_4deY

i
o

=
N

10

usr_1X:cyclenum {run == 8262}

T
.
N
N

L
10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

usr_4eY:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 1 41097451 5
cyclenum

usr_4aY
=
o

usr_12X

usr_4aY:cyclenum {run == 8262}

h
10972 10972.5 10973 10973.5 1 41097451 5
cyclenum

usr_12X:cyclenum {run == 8262}

A%

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

usr_4eX

8264

3263.5

8263

3262.5

8262

3261.5

8261

3260.5

8260

usr_4eX:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975

cyclenum

run:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum




17000

16900

16800

16700

16600

16500

-3000

-3050

-3100

-3150

-3200

usl_coill:cyclenum {run == 8262}

L N A A AN A W
10972 10972 5 10973 10973.5 10974 10974.5 10975
cyclenum
usl_coil6:cyclenum {run == 8262}
r : X :
i : X
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10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

;12500

2000

1500

1000

500

; 3600

13500

3400

3300

3200

3100

3000

2900

2800

2700

usl_coil3:cyclenum {run == 8262}

h
10972 10972.5 10973 10973.5 1 41097451 5
cyclenum

usl_coil7:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

: 7000

6000

5000

4000

3000

2000

1000

8264

3263.5

8263

3262.5

8262

3261.5

8261

3260.5

8260

usl_coil4:cyclenum {run == 8262}

T
B

10972 10972.5 10973 10973.5 10974 10974.5 1 5
cyclenum

run:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum




usr_coill:cyclenum {run == 8262}

15580 . . :
15600 f= - -b-ennndennnns R Toeeeas Lo
15620 -5 ---udenene XKoo
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. : x
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15760 5T 337 P A A Al S
10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

-2800

-2850

-2900

—-2950

-3000

-3050

-3100

-3150

-3200

-3250

-3300

usr_coil6:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

-500

-1000

-1500

—-2000

35400

35200

35000

34800

34600

34400

34200

34000

33800

33600

33400 F

33200

usr_coil3:cyclenum {run == 8262}

A

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

usr_coil7:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

- 8000

37000
6000
5000
4000
3000
2000

1000

8264
3263.5
8263
3262.5
8262
3261.5
8261
3260.5

8260

usr_coil4:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 1 5
cyclenum

run:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum




-138.6

-138.8

-139

-139.2

-139.4

-139.6

-139.8

-140

-140.2

-140.4

-237

-237.5

-238

-238.5

-239

1X_coill:cyclenum {run == 8262}

'_.* ............ [ Peeeees e P
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10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum
4eX_coill:cyclenum {run == 8262}
-— ----------------------------- -* ---------------
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10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

4eX_coil3

|
4l

-10

-15

1X_coil3:cyclenum {run == 8262}

h
10972 10972.5 10973 10973.5 1 41097451 5
cyclenum

4eX_coil3:cyclenum {run == 8262}

* """ N

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

4eX_coil7

254

252

250

248

1X_coil7:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

4eX_coil7:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum
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200
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200
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50

4aY_coild:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 1 5
cyclenum

4eY_coild:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 1 5
cyclenum

-103.8

-103.9

-104

-104.1

-104.2

-104.3

-104.4

-133

-133.1

-133.2

-133.3

-133.4

-133.5

4aY_coil6:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

4eY_coil6:cyclenum {run == 8262}

Lo X

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

—48.5

-49

-49.5

—-40.5

-41.5

-42.5

4aY_coil7:cyclenum {run == 8262}

'l 1111 1 1 1111
10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

4eY_coil7:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum




-228.5

-229

-229.5

-230

-230.5

—-231]

-231.5

-232

-232.5

-233

12X_coil6

]

12X_coill:cyclenum {run == 8262}

L
10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

12X_coil6:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

12X_coil3

-500

-505

-510

-515

-520

12X_coil3:cyclenum {run == 8262}

L
10972 10972. 5 10973 10973 5 10974 10974.5 10975
cyclenum

12X_coil7:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum

12X_coil4
N

-10

-12

-14

8264

3263.5

8263

3262.5

8262

3261.5

8261

3260.5

8260

12X_coil4:cyclenum {run == 8262}

L1 L L
10972 10972 5 10973 10973.5 10974 10974.5 10975
cyclenum

run:cyclenum {run == 8262}

10972 10972.5 10973 10973.5 10974 10974.5 10975
cyclenum
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